MCQ Urology
1.Which is the most likely organism to cause a UTI?

a) staph saprophyticus

b) e coli

c) pseudomonas

d) klebsiella

e) strep faecalis

2.Which is not a recommended regimen for treatment of UTI in the non pregnant woman?

a) trimethoprim 300 mg orally daily for 5 days

b) augmentin duo orally b.d for 5 days

c) cephalexin 500 mg orally b.d for 5 days

d) nitrofurantoin 50 mg qid for 5 days

e) all of the above are correct

3.For what length of time should a man with a UTI be treated for?

a) 3 days

b) 5 days

c) 7days

d) 10-14 days

e) 20 days

4.Which statement is incorrect regarding the treatment of UTI in pregnant women?

a) regardless of the antibiotic chosen, the duration of treatment should be 10-14 days

b) augmentin duo b.d

c) nitrofurantoin 50mg qid

d) cephalexin 250mg  qid

e) trimethoprin 300mg daily

5.What is usually considered the number of white cells necessary on microscopy to make the diagnosis of a definite UT1?

a) 1000 per mm3

b) 10000

c) 50000

d) 100000

e) 500000

6.Regarding urinalysis which is incorrect?

a) the haematuria square will also be positive for myoglobinuria and haemoglobinuria

b) pyuria has is nearly always present in a UTI

c) nitrates are not present in all UTIs, only those caused by coagulase splitting bacteria

d) nitrates are not seen if the UTI is caused by gm+ve or pseudomonas

e) Vitamin C gives many false positives – nitrites,bilirubin,ketonuria

7.If a patient presents with dysuria and only 100-1000 WBC should they receive antibiotic treatment?

a) yes

b) no

c) no, but repeat culture in 2 weeks

d) only if two such results in two specimens two days apart

e) just ural sachets

8.What is the most common age group for testicular torsion?

a) <10 years

b) 12-18 years

c) 20-25 years

d) 30-50 years

e) >60 years

9.Which is not a cause of epididimoorchitis?

a) amioderone

b) mumps

c) pseudamonas

d) cryptococcus

e) eruthromycin

10.Which group of people are unlikely to need treatment for their asymptomatic bacteruria- assuming their renal tracts are normal?

a) pregnant women

b) young children

c) non pregnant women

d) men under 60 years of age

e) noenates

11.Which is an correct statement regarding treatment of a torted appendix testis?

a) analgesia alone is all that is required

b) analgesia plus antibiotics for 10 days

c) surgical resection is mandatory

d) local anaesthetic infiltration into the appendix is often used

e) methotrexate has been shown to be beneficial

12.Which size renal stones have a 90% chance of passing?

a) <3mm

b) <5mm

c) <7mm

d) <8mm

e) it is not size dependant

13.Which agent has been shown to be highly effective in treatment of renal colic pain?

a) Hyoscine butylbromide

b) atropine

c) nifedipine

d) NSAID, no one in particular is superior

e) GTN

14.What percentage of kidneys stones have micrscopic haematuria?

a) 100%

b) 20%

c) 50%

d) 70%

e) 90%

15.At what rate should IV fluids be given in acute renal colic?

a) so as to get 200ml/hr urine

b) 2 litres over 2hours unless CVS contraindicated

c) maintenance

d) 1 litre over 1hour unless CVS contraindicated

e) it is relatively contraindicated

16.What is the role of plain AXR in diagnosis of renal colic?

a) it should always be done

b) it is of marginal value and not cost effective, therefore should not be done routinely

c) it will show the majority of renal calculi

d) its sensitivity is too low to be of great value

e) B,C,D are correct

17.Which statement is incorrect regarding prostatitis?

a) it is usually due to the organisms of sexually transmitted diseases

b) there is a tender enlarged prostate on PR examination

c) if sytemically unwell use iv gentamicin and ampicillin

d) co trimoxazole is a good oral agent as it concentrates in prostatic fluid

e) urine culture usually reveals the organism

18.Which grade of renal injury involves a deep laceration into the collecting system?

a) 1

b) 2

c) 3

d) 4

e) 5

19.Which is the imaging modality of choise in suspected renal haematuria?

a) IVP

b) CT

c) Angiography

d) Retrograde ureteroscopy

e) ultrasound

20.Which statement is incorrect regarding renal trauma?

a) blunt trauma with microscopic haematuria and no other signs of injury does not need imaging

b) blunt trauma with microscopic haematuria and fracture 11/12 ribs and flank tenderness warrants imaging

c) a major renal injury cannot occur without macroscopic haematuria

d) penetrating trauma in the region of the kidney with macroscopic haematuria warrants imaging

e) penetrating trauma in the region of the kidney with microscopic haematuria warrants imaging

21.Which statement regarding bladder injury is incorrect?

a) they usually rupture intraperitoneally rather than extraperitoneal

b) they are usually associated with a pelvic fracture

c) inability to void and macroscopic haematuria and meatal blood are symptoms

d) investigation of choise is retrograde cystogram

e) the rupture can be both intra and extraperitoneal

22.Which is the most common cause of these renal causes of acute renal failure?

a) ischemic ATN

b) nephrotoxic ATN

c) acute tubulointerstitial nephritis

d) renal artery stenosis

e) acute glomerulonephritis

23.Haematuria, hypertension, protenuria and red cell casts in the urine are indicative of?

a) nephrotic syndrome

b) hepatorenal syndrome

c) nephritic conditions

d) rhabdomyolysis

e) aminita phylloides poisoning

24.What percentage renal function can be lost but still have a creatinine in the  normal range?

a) 20%

b) 35%

c) 50%

d) 60%

e) 70%

25.Which of these finding would not suggest CRF as opposed to ARF?

a) normochromic, normocytic anaemia

b) radiologic evidence of renal osteodystrophy

c) polyuria, nocturia

d) 10cm size kidneys

e) family history of renal disease

26.Which of these is not a feature of pre renal ARF?

a) decreased GFR

b) high specific gravity

c) urinary sodium<10

d) blood urea:creatinine ratio  >100:1

e) urine osmolality<500

27.Which is not a principal of treatment in ATN due to rhabdomyolysis?

a) correct hyperkaleamia

b) give normal saline to correct hypovolemia

c) give frusemide or mannitol to encourage a diuresis

d) fasciotomy as indicated

e) aim for pH<6

28.Which statement is true?

a) trials of high dose frusemide have not proven it to be of benefit in ARF, unless the pt is fluid overloaded

b) dopamine at 1-5mg/kg/min is only indicated where hypovolemia has been corrected but the pt is still oliguric despite the use of diuretics

c) both A and B are incorrect

d) both A and B are correct

29.Which is the most common world wide cause of haematuria?

a) neoplasia

b) infection

c) shistosomiasis

d) BPH

e) calculi

30.Which statement is incorrect regarding post streptococcal GN?

a) it is seen especially in children

b) it usually occurs 7-14 days post throat infections

c) it usually occurs 7-14 days post skin infections

d) treatment of the primary illness with antibiotics will prevent GN

e) the disease can range from isolated haematuria to severe GN

31.Which is the most common cause of CRF?

a) diabetes mellitus

b) hypertension

c) glomerulonephritis

d) polycystic kidney disease

e) analgesic nephropathy

32.What is the cause of most common cause of death in pts with CRF?

a) infection/sepsis

b) cardiac causes

c) CVA

d) Malignancy

e) Self withdrawal from dialysis

33.Which biochemical abnormality is not seen in CRF?

a) Hyperparathyroidism (secondary)

b) hypocalcemia

c) hyperphostphatemia

d) increased erythropoietin (secondary)

e) anaemia

34.Which is not a false cause of haematuria?

a) beetroot

b) raspberries

c) rhubarb

d) cimetidine

e) NSAID
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